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What if you had to work today ?

A hundred years ago many children had to work. Some weren’t even ten years old. Their
workday was often sixteen hours long. These children never went to school. They had no time to
play. They hardly ever got fresh air. How could this happen ?

Some children had no mothers or fathers who could look after them. Others had to take
care of their sick parents. Most were just helping their families earn enough money to live.

Many people worried about such children. They forced the people who made the laws to do
something about this problem.

In 1916, a new law was passed. For the first time in the United States, young children were
not allowed to have jobs in factories.

People today understand that children need to rest and play. They know, too, that
schoolwork is the best kind of ""job" for young minds.

Adapted from "Reading for content"
by Jane Cutler and Janet Joers.

PART ONE  (14pts)

A) Reading Comprehension (07pts)
Read the text carefully and do the following activities :

Activity One (03pts):
Read the following statements and write ''true’, '"false” or ''not mentioned''.

1) All the children had to go to school a century ago.
2) It was hard for some parents to look after their children.
3) Parents who sent their children to work had problems.

Activity Two  (02pts):
Answer the following questions :

1) Did people feel concerned about children’s work ?
2) Were their actions against children’s work unsuccessful ?

Activity Three (02pts):

Find in the text words or phrases that are closest in meaning to the following:

a) were obliged = b) the majority =
¢) not permitted = d) relax =

PARE R E¥-



B) Mastery of Language (07 pts)

Activity One (02 pts) :
Supply the punctuation and the capital letters where necessary.

all children should have the right to education they should also have the right to free medical
care

Activity Two (03 pts):
Write the correct form of the verbs in brackets.

Years ago, children ( to not have to) go to school. Now, there’s a law: children must (to stay)
at school till the age of sixteen. So, if some parents (to not respect) the law, they will be in
trouble.

Activity Three (02pts):
Find in the text four words that have the following sounds:

/ e1/ (say) / a1/ (right)

PART TWO (06pts)
Written Expression

A lot of children, in the world, do not go to school because they have to work to help their
parents. You feel concerned about this problem.

Write an article for your school magazine about children’s rights.

These hints can help you:

- children's protection (education /health /food...)
- children's leisure ( games / sports ...)

ZJZW
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A/ Reading comprehension PART
Activity One (03pts) ONE
Ipt I- False (14pts)
Ipt 2- True
Ipt 3- Not mentioned
; - Activity Two  (02pts)
: P 1- Yes, they did./ Yes/ ( Yes)they felt( were) concerned about
Tpts | children's work ( it)./Many people worried about such children.
Note: If a candidate copies the 3rd paragraph ( "Many people....this
Ipt problem™). give 0.5pt |
2- No, thev weren't. /No/(No) they ( their actions) were not "
unsuccessful./ (No) they were successful. No. in 1916 a new law |
was passed./ No, for the first time...... in factories
0.5ptx4 | Activity Three (02pts)
a)had to / b) most / ¢) not allowed / d) rest and play/ (rest/ play) ,
i B/ Mastery of Language
0.5ptxd |
| | Activity One (02pts)
‘ All children should have the right to education, They should also
f . have the right to free medical care,
? |
L Activity Two  (03pts)
Tpts Ipt did not ( didn't) have to
Ipt must stay
Ipt do not ( don't) respect
Activity Three (02pts)
| 0.5pt x4 /el ‘ /al/
' today — workday — play- take — | time ~ united — kind - minds !
| made- they — states - Jane ’ ‘
|
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| PART TWO: Written Expression
Evaluation Grid
Criteria Indicators *
Relevance The candidate has followed : ;
2pts . . . !
- : / - i .
the topic :s’he has written about children's PART %
rights. TWO i
| - the format :s/he has written an article . 1
6pts
Correctness of The candidate has used : |
linguistic resources | - modals (must/mustn't / shouldn't / have to / i
|
2pts don't have to / need / if clause/ conjunctions / :
link words. ..
- vocabulary related to the topic.
| |
2pts Semantic - The sentences are meaningful. |
coherence - The ideas are sequenced logically. :
|
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Texte :

Le véhicule représente aujourd’hui le symbole de notre époque. Il a modifié les
habitudes sociales et transformé notre environnement. Le véhicule a permis a
[’homme de vivre dans un horizon plus large et d’atteindre un degré d’indépendance
et de liberté plus grand. L’homme peut habiter 14 ou il désire, (...) choisir le lieu ou
il veut travailler et ce, grace aux moyens de transport.

Seulement le véhicule n’a pas apporté que le progres; il a entrainé avec lui
beaucoup de nuisances par les excés incontrdlés de son usage :

- ’émission des gaz et particules provenant de la combustion des carburants,
- I’émission de bruits et vibrations,
- les atteintes a la santé.

D’aprés Tabet-Aoul Mahi

« Développement durable et stratégie de I’environnement ».
-O.P.U. Alger -

Questions

I) Compréhension de I’écrit : (13 points)

1) " Il a modifié les habitudes sociales "
Dans cette phrase, le verbe souligné veut dire :
a) aentrainé
b) a permis
¢) achangé
Choisis puis recopie la bonne réponse.

2) Classe les expressions suivantes dans le tableau ci-dessous :
vivre dans un horizon plus large / émission de bruits et vibrations / atteintes a la
santé / donner une plus large liberté.

Les avantages du véhicule | Les inconvénients du véhicule

2 ol o



3) Selon I"auteur, " le véhicule a libéré I’homme ", reléve du premier paragraphe deux
expressions qui le démontrent.

4) A quoi renvoie le pronom " lui " dans la phrase suivante:
" Il a entrainé avec lui beaucoup de nuisances."

5) Complete:
Le véhicule n’a pas apporté que le progrés ; il a entrainé avec lui beaucoup de
nuisances.

Les véhiculesn’........... que le progrés ; ......... ..... .

6) "Le véhicule a modifié les habitudes sociales. "
Réécris la phrase en la commengant ainsi :
"Les habitudes sociales ................................. "

7) Le véhicule a apporté le progres. Il a entrainé avec lui beaucoup de nuisances.
Relie les deux phrases par l'un des articulateurs suivants : car / donc / mais.

8) Choisis et recopie le titre qui convient.
a) Le commerce des véhicules.
b) Le véhicule et le progres.
c¢) Le véhicule : utilité et nuisances.

IT) Production écrite : (7 points)

Tes parents décident d’acheter une voiture. Tu les accompagnes au salon
d’exposition pour les aider a choisir la marque, le modeéle, la couleur. ..
Rédige un court paragraphe de 7 a 8 lignes pour présenter la voiture de ton choix

et justifie ton point de vue par 3 ou 4 arguments.

2 2 inin
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01

[-Compréhension de I'écrit : (13 pts)
1) Le verbe souligné veut dire:
¢ - a changé
2) Je classe les expressions dans le tableau

Les avantages du véhicule Les inconvénients du véhicule

- vivre dans un horizon plus large | - émission de bruits et vibrations.
- donner une plus large liberte. - atteintes 2 la santé.

|
3 3) Selon l'auteur, "le véhicule a libéré 'homme” i
! Les expressions qui le montrent sont :
| - L'homme peut habiter la ot il désire. "
- Choisir le lieu ol il veut travailler. ‘
- Le véhicule a permis & 'homme de vivre dans un horizon plus large
et d'atteindre un degré d'indépendance et de liberté. . ...
4) le pronom "lui" remplace: « le véhicule ».
3) je compléte: - Les véhicules n'ont pas apporté que le progres: ils ont
entrainé avec eux beaucoup de nuisances.
6) Je rééeris la phrase a la forme passive:
"Les habitudes sociales ont été modifiées par le véhicule".
" 7) Je relie les deux phrases :
" Le véhicule a apporté le progrés mais il a entrainé avec lui beaucoup
; de nuisances."
| 8) Je choisis et je recopie le titre qui convient:

| -« Le véhicule: utilité et nuisances ». |

II) Production écrite :

Criteres

Indicateurs ‘ 1 3/4

12

1/4

: Adéquation a la
¢ production (2 pts)

- Compréhension du sujet X

- Capacité a justifier X

- Pertinence des idées X

i Cohérence ( 2 pts) - Enchainement 1 X
' - Articulation des différents passages X
1 - Utilisation correcte des temps X
. Correction de la . .
: - - Respect des régles d'accord X
i langue (2 pts) =z .
. g . . : i
- Utilisation correcte des connecteurs logiques i X!
o - Mise en page PoX
© Perfectionnement —— ;
i - Lisibilité I X
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Adris

Tizgi n lewhuc

Deg zzman amezwaru, nnejmagen lewhuc, mmesgallen ur uyalen ad myeccen.

Rran izem d agellid fell-asen ; Rran tilas d yinagan : wa ur yettawed wa.

Izem yezdey tizgi tameqqrant netta d wuccen, d yilef, d tewtult, d tyazidt akked
tfunast : llan akk d ixeddamen-is : ilef, yeggan fell-as ; uccen, yeddal yis-s ; tawtult,
isummut-itt : abarey, yettagem-as-id aman ; ayvul, izeddem-as-id isyaren ; tayazidt,

tettarew-as-id timellalin ; ma d tafunast, tettak-as-id ayefki.

Hennan lewhuc, teksa tayat d wuccen! Ferhen akk s tudert-nsen, axater seg lehna

{ d-tettekk leyna. Ala uccen ur nefrih ara : yuy tannumi yekkat timeyriwin.

Yendem atas yef lihala n zik. Mi ara d-vemmekti aksum azeddgan d yidammen

yehman, tettuyal-as d tiselbi.

Brahim Zellal, * Le roman du chacal”
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Isestanen :

I-TIGZI N UDRIS (06)

1. D acu-t wanaw n udris-a ?

o

. Acuyer 1 nnejmaeen lewhuc ?

(OS]

.Dizem1 rran lewhuc d agellid fell-asen.
- Ini-d acuyer.

- Kkes-d seg udris aven 1 d-yemmalen ava.

g

. Hennan akk lewhuc anagar uccen. Kkes-d seg udris yiwet n tenfalit 1 d-yemmalen aya.

n

. Efk-d aknaw n wawal “tizgi".

I1- IFERDISEN N TUTLAYT (06)

1. Sled tafyirt-a : Yettagem-as-d aman.

o

. Suffey-d seg udris amyag yeftin yer wurmir ussid.

(9]

. [er tafyirt-a : Teksa tayat d wuccen.

- Err-itt yer tibawt.
ITI- ASENFALI S TIRA (08)

Ugten yimenyiyen deg tudert n val ass gar yimdanen (deg yixxamen, deg yiberdan, deg
yinurar. ..).

Aru-d adris ideg ara d-talsed d acu 1 1lagen ad t-xedmen yimdanen akken ad idiren deg

talwit.
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Adris

Lyabt n lewhuc

Di zzman amezwaru, mlaymen lewhuc : Zullen ur ttemseccen. Igin ar d agellid fell-
asen. Sersen leqwanen s cchud : wa ur iteft we.

Ar yezdey tajmut tameqqgrant, netta d wuccen. d yilef, d tgazidt lak d tfunast : llan lak d
izeddamen-nes : ilef yettettes fell-as : uccen yetyafta vis-s : tagerzizt d tawsat ; akeeb,
yettagem-as-d aman, aserdun izeddem-as-d isyaren : tagazidt tettarew-as-d timellalin ; ma
d tafunast, tettute-as-d ayl.

Thennan lewhue, tretteg tyadt d wuccen!. Ferhen lak s tmeddurt-nsen, xater si lehna
i d-yettas weddukel. Kan uccen ur yefrih ; iwalef vetteg islanat s yikesman d yidammen
izeylen. Yendem xirella yef lhalt n zik.

Brahim Zellal
Le roman du chacal
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Iseqsiven :
I- TIGZI N UDRI § (06)
1- Matta wanaw 1 udris-a ?
7- Mumi mlaymen lewhuc ?
3- D ar isersen lewhuc d agellid fell-asen. Ini-d mumi ?
Kkes-d seg udris i yesseneat tamsalt-a.
4- Thennan lewhuc ukkel kan uccen. Kles-d seg udris tict tenfalit i d-vesseneaten
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